EARAROBEEIERT — 2 N— IBISH —F

201657H308 (£) 2B/MNE1H

IR H+>%3mtEt 500ARAT 4 [HETE] T2 ‘ (Xfg] B ‘ [REmsE] — | & (&) 17000 &
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Zv—rJTIL it o4 Eﬁ 1:(4_5).7 1-1-1-1 [38.4| 95.5 | 2 482 i}ﬂﬂ%ﬂ (E®)
QI UTY BiRY— MR 12) | S5 seaig
B 3 | HEE 1:46.1 4-4-4-2 | 38.5| 92.0 | 3 496 | MWIIFE (ER)
t—%an-+ A%9.0 @ 1/2) 0 | @ G1L=yy
A:Distorted Humor &:>—I XY BT 7 — L4
R . JNE%xE : 56— SiEEy (BEXR)
70— s— [B] R RS B el R ;Z; e
AR NG —=T BT —INX TADAS
— e N BEHF : 00— TEBX (EX)
— AL EOA—HIL 4 3 ER 1;?::)3 2-2-2-2 |38.8] 90.3 | 12 (:?E) v
L:hP/RI47 Bk EQXvy b KE%S
S BERRRE R 146, -9-10~ . . WA= (EXR)
5159 #>vFruy it 3 A (13416/29) 9-9-10-10 | 38.7 | 85.0 | 6 (i?i) v
R:Z28—J>r70-X B:7F4<3— 2V NI 7
_ N _ B . 77— EHASE
6l111|71TLUT 115 [B] f 5 gg_ﬂga 1(741:0 6-7-7-5 |39.1| 84.4 | 5 | 472 'r'il%ﬁ;fam (ER)
R:FAIAFNTA— BF{Ih/%t% M) T s aEss
s N E- =31 : -9-9- BORRIE (EXR)
; 5| A Mvans Ty i 3 o 1(.3%; 11-9-9-8 [39.0| 83.4 | 10 (4;4) At
R:vNyBLHTr B:ALT4FCb SNk Eie]
S . BEREE : -13-13- e RB= (EX)
8 12| b NnZB— o4 A (11.437/.44) 12-13-13-12| 38.9 | 80.8 | 11 ;1:124) =
LIV INATA—h— B LY RNCEZ— FRBE%S
_ . IR :47. -12-10- . . HEMF (BR)
0 sl@n5TNT—x 1K B4 e 1(14/72>5 12-12-10-8 | 39.2 | 80.2 | 16 :1_760) i
LNnN—ErTv— B:HTTIE=7 HE77—»4L
RPN B4 | BEREN 1:47.7 14-14-13-15| 39.2 | 78.4 | 4 468 | EEFEE (RR)
101815/ 77>>a7L _ 55.0 (1 1/2) +8) MEsE
R:HLTAN—F B:dy FESTRI— B %K
.= WERE : -16-16- ERET (EXR)
. ql7ands—L it 4 s (11417/29> 15-16-16-12| 39.3 | 76.8 | 9 (i?g) ZhEe (
LN=VIFL BiAYF EYFHTr—L
. s 5 | JIIEEHE 1:47.9 15-14-13-12| 39.4 | 76.9 | 7 476 | BE—5H (RR)
12j13| ¥/ =Y > 5.0 (nF) o |ZEEEE
R:YPRYZYZXIZ B:N¥/I70 #T EAtE
c— e # 4 | D. XLV a— 1:48.2 4-5-4-5 |40.6| 75.8 | 8 | 488 |BSEED (BR)
EE 4| AT RYTN 50 (11/2) © ) 540>
LihriN=— B:IIAANLZ BSlite
= S SEIRER :49. -9-10- . . = (ER)
1alglisl @5y 2791 i 4 = 1(459)0 9-9-10-16 | 40.8 | 69.6 | 14 fff) Eﬂaﬂm
LNn—ErTv— BYIIXTo—4 FEX %Y K
N : 4 4 | REKXME 1:49.1 8-8-7-10 | 41.2| 69.4 | 1 480 | HHE— (EH)
15(7{ 14| N1~ F 5.0 (7E) Gy | ) AL 23
L:xA1=gy—X B:Y—=JLy ha=K "HET7—L
. HALEAE . _o_o_ LA (BXR)
161510 @9 >+ —L i 4 e (11419/23) 2-2-2-4 | 41.8] 68.7 | 13 :?:3) i
Rd— W RT7Ya—Ib Bk hbEr—I RS
@ 71 L
) 50.7-38.4
NA>ZA L |6.8-11.1-11.9-12.8-12.4-12.3-12.4-12.5-13.5
® I —F—@EBIERL
13=3r= 7(8,10) (2,4) (1,6)14(9,16)5(3,12)15(11,13)
2= = 7(8,10)2(6,4)1,14(5,9,16)3,12(13,15) 11
dal=3r= 7(8,10) (2,4)6(1,14)5(3,9,16) (12,13,15) 11
40—+ — 7-(2,8)10(1,6,4) (3,5) (14,9) (11,12,13)15,16
[ N3
BB 7 360M 714K 2-7 770 e E 1-4 790 JEHE 2-6-7 61,150
8 B 7 170 6-7 8,910 B = 2-7 1,630 B 7-2-6 209,640M
2 270M 2-6 15,2201 | | BB B 7-2 2,870M
6 2,540

ABICOVWTRDTEEERROODE. TR LIV,




